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CLASS-5 SAMPLE QUESTION PAPER

The Actual Question Paper Contains
50 Questions. The duration of the
Test Paper is 60 Minutes.

Which of the following statements is not correct?

(A) Every cactus is a xerophyte.

(B)  Every xerophyte is a cactus.

(C) Cactus have thick and fleshy stems.

(D) They have roots that go deep into the soil in
search of water.

(E) None of these

The first Indian to go into space was

(A) Kalpana Chawla

(B)  Sunita Williams

(C) Krushna Patil

(D) Rakesh Sharma

(E) None of these

The layer filters out the harmful

ultraviolet rays of the Sun.

(A) ozone

(B) carbon dioxide

(C) oxygen

(D) nitrogen

(E) None of these

Some animals like desert tortoise, desert hedgehog,

jackrabbit, etc. never drink water. How do they sur-

vive?

(A) They do not need water to live.

(B)  They take in water from the air they breathe.
(C) They obtain water from the food they eat.
(D) All of the above.

None of these

(E)

The smallest bone in the body is

(A) bones of the skull

(B) collar bone

(C) in the middle ear called stapes

(D) the thigh bone called femur

(E) None of these

How many pairs of ribs do human beings have?
(A) 8 (B) 12

(C) 14 (D) 10

None of these

(E)
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11.

12.

13.
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The only movable bone in the head is the
(A) lower jaw (B)  stapes

(C)  skull bones (D)  All of these
(E) None of these

The upper surface of our tongue is rough due to the
presence of raised circular structures called

(A) cells (B)  molecules

(C) small hair (D) taste buds

(E) None of these

AIDS or Acquired Immuno Deficiency Syndrome is
a disease caused by a
(A) Dbacteria

(C) virus

(E) None of these

fungi
protozoa

(B)
(D)

Why is chlorine added to drinking water?
A)  To remove the minerals present in water.

(

(B)  To remove the dust particles in water.
(C) To kill the germs present in water.
(D) All of these

(E) None of these

Vaccine is not available for which of the following
disease?

(A) Polio

(C) Rabies

(E) None of these

Malaria
Tetanus

(B)
(D)

There is no atmosphere around the moon. Why?

(A) Because it has a low gravity due to its small size.

(B) It does not need an atmosphere as there is no life
on it.

(C) The Earth pulls everything towards itself leaving
the moon with no atmosphere.

(D) All of these

(E) None of these

The gas that is generated from waste is called
(A) Natural gas (B)  Biogas

(C) LPG (D)  All of these
(E) None of these




